H & 0l & AHS B Ml A

SA AL
B geR
ol SHASAE (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
rar-=inl; 30,641,911 48,448,907 A17,806,99%
= 317,600
[ 563,000
= 743,555
Al 29,017,756
Agez 16,213,200 23,896,000 8,682,800
< 470,600
Al 14,742,600
SHASAE 3,950,000 6,322,000 A2,372,000
HEagt 300,000 700,000 A400,000
401 AIEHIL L] 300,000 700,000 400,000
01 A&t 296,760 695,590 398,830
Odz-gd T2 ABHBA
300,000,000 *98.92% 296,760
03 A& SR 3,240 4,410 A1,170
OcizE-2Y T2 SLFBA
300,000,000 *1.08% 3,240
gELII2 3,000,000 3,000,000 0
401 Al HIZL S 0HYI 3,000,000 3,000,000 0
01 Al&HI 2,991,900 2,989,200 2,700
OS2I E2 SEEZA
3,000,000,0002%99.73% 2,991,900
03 AIZ2THYI 8,100 10,800 A2,700
OS2I &2 SEHZA
3,000,000,000&%0.27% 8,100
SHAIZ RX2 650,000 500,000 150,000
401 AIEHIZ SR HYI 650,000 500,000 150,000
01 Al&HI 646,400 496,400 150,000
OSENIA T KRA2ASIAIS
500,000,000 *99.28% 496,400
Oz Fouat 50,000
thsH 50,000
-ZUNEEE: FENUY UE &Y 50,000
OMEE S FUHEZE(+=XE &EO
g2) 100,000
03 Al 2 CHYI 3,600 3,600 0
OSHXNIAL FAZHeIAY
500,000,000&*0.72% 3,600
sHEZ=R 4,800,000 8,000,000 A3,200,000
Hold 1,000,000 650,000 350,000
401 Al HIZ R 0HbI 1,000,000 650,000 350,000
01 AlZ28| 993,700 645,905 347,795
OHold SHEEZ HETIA
1,000,000,0002 %99.37% 993,700
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SA AL
M (YE2
el SOHEER (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A& S CHYI 6,300 4,095 2,205
OHQINH SHEEZ SHEHSA
1,000,000,000& *0.63% 6,300
BiES 3,000,000 1,600,000 1,400,000
401 Al HIZ S OHbI 3,000,000 1,600,000 1,400,000
01 A28l 2,989,200 1,594,240 1,394,960
Otiegd SHELZZ SHEISA
,000,000,0002 %99.64% 2,989,200
03 Al 20HHI 10,800 5,760 5,040
OHiEd sHEZZ SZEIA
3,000,000, 000&0.36% 10,800
cEd 300,000 300,000
401 AlZHIY S CHYI 300,000 300,000
01 AlZH| 297,840 297,840
OL2H(237) SHELZZ HZESA
300,000,000 *99.28% 297,840
03 Al 20HHI 2,160 0 2,160
OLBH(237) SHELZZ SHRESA
,000,000&+0.72% 2,160
sHEZZ |X2clA 500,000 500,000
401 Al HIZ 2018 500,000 500,000
01 Al&HI 496,400 496,400
OsHEEZZ =RAl2clArd
500,000,000 *99. 28% 496,400
03 Al = THHI 3,600 3,600 0
Os0HEEZ RXIZ2IA
500,000, 000& *0.72% 3,600
sSd=d 1,400,000 1,700,000 A.300,000
Ol Mz 2= Zdl 1,400,000 100,000 1,300,000
401 AIEHIZL S0 1,400,000 100,000 1,300,000
01 Al&H| 1,394,960 99,100 1,295,860
OO0 MS0ts SH=E ZHISA
1,400,000,000& *99.64% 1,394,960
03 AIZ S THYI 5,040 900 4,140
O0l# AMS0t= SH=E JHISA
1,400,000, 000& *0.36% 5,040
FAELZE HEME 800,000 2,400,000 1,600,000
< 200,000
Al 600,000
= ZZ A2 (HEAY) 400,000 700,000 A.300,000
= 200,000
Al 200,000
401 AlEHIZ 2 0HbI 400,000 700,000 A300,000
= 200,000




S AL}
Hu: NYEE

&el: A2 dEHE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 200,000
01 AlZ2H| 400,000 695,590 A295,590
= =8 ASBEZ FRHEAY
400,000,000& 400,000
== 200,000
Al 200,000
ot 2AX A== 400,000 0 400,000
401 Al HIZL 01| 400,000 0 400,000
01 Al&H| 397,120 0 397,120
O0tE 2Kl A2 RIS AL
400,000,000& *99. 28% 397,120
03 AlZ = THHI 2,880 0 2,880
OO0t Xl /=2 FRMEAY
400,000,000& *0.72% 2,880
HE-Z =7XA2 4,263,200 5,474,000 21,210,800
< 270,600
Al 3,992,600
wE(HE) R 300,000 1,300,000 1,000,000
401 Al HIZL 048I 300,000 1,300,000 1,000,000
01 Al&HI 297,840 1,291,540 A993,700
ONESOIEY T NS 242ABA
300,000,000 *99. 28% 297,840
03 AIESTHYI 2,160 8,460 26,300
ONLSOTY TA AES B22UTA
300,000,000 0.72% 2,160
wE L HE HAELSA 300,000 1,300,000 1,000,000
401 AIEHIYL S HY 300,000 1,300,000 1,000,000
01 A&t 297,840 1,291,360 993,520
ORY WXBABASHD/ 4
300,000,000 *99. 28% 297,840
03 AIZ 2 THYI 2,160 8,640 26,480
Ong WXEZASAHZH1/ o)
300,000,000 0.72% 2,160
SIMWXZE XA (HEAL) 400,000 0 400,000
[ 200,000
Al 200,000
401 Al HIZL S 0HYI 400,000 0 400,000
S 200,000
Al 200,000
01 Al&HI 400,000 0 400,000
O=lduit=z XA 400,000
= 200,000
Al 200,000
g2 A= MBI 200,000 0 200,000




SA AL
M (YE2
ool HEEZ |2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 24,000
Al 176,000
401 Al HIZL 01| 200,000 0 200,000
= 24,000
Al 176,000
01 Al&H| 200,000 0 200,000
Ogdad HaAd=s JEordEd 200,000
= 24,000
Al 176,000
Eth SEMNE SS70M XNIMS(EX)(HEALY) 93,200 0 93,200
< 46,600
Al 46,600
401 Al HIZL 201 93,200 0 93,200
& 46,600
Al 46,600
01 Al&H| 93,200 0 93,200
Otz gd EXSAt 93,200
= 46,600
Al 46,600
S8NY =2 RA2HC/2+ 2,970,000 2,970,000
401 Al HIZ S OHbI 2,970,000 2,970,000
01 A28l 2,970,000 2,970,000
T2 MHoH=s+A 500,000
OYHEEZ HEESA 500,000
OU=SXE HHISA 70,000
O=Xl €&((3BaH) =2 FHISA 200,000
OSHAIZ 1154(9) =2 FHIZA 50,000
58 BZ2(NE 284) =2 FHISA 300,000
Oo0le ==2(382H) &2 HHIZBA 300,000
22 IS0t =2 HdI3At 150,000
Ot SZ(MNMSH) &2 ti4= ZHISA 100,000
Oolg 2g(125d) QE HEBA 150,000
O=2& sH(2108H) Highs S22 & TA 400,000
O28 st==(1254) oHEEt a2 ZE3A 250,000
E2ae] 1,879,166 5,108,934 N\3,229,768
== 102,955
Al 1,776,211
CERX2 1,649,166 4,758,934 A3,109,768
< 102,955
Al 1,546,211
Aol CH 290,156 265,679 24,477
201 er23 | 115,800 115,800 0




SN AL
. Sz 2t
&el: 2RIt EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
01 ArR2eltl 115,800 115,800 0
OBEEE MExte exz
6,900,000 x4 CH+3IH & 82,800
O1EEE Ndxte gz
5,500,000& x2CH*3IH & 33,000
206 M=4| 174,356 149,879 24,477
01 =Yl 174,35 149,879 24,477
OZZN4dE Z3tzs 7
440,000& *150& 66,000
OLZHMEE &5 #¢
180,000 *300& 54,000
O=zH&Es 2H=0HU 2
2002 x22, 50004 4,500
OSH HMEU SIUI(HEHE)
(1,73821%3200H %45L.) 25,028
OLZMEE 2eff ¢
13,000& »200m* 2,600
OH&I DR PY(EAEHPES)
330,000& * 18CH 5,940
OM&D DRALH(IHEEE)
150,000 = 15CH 2,250
OH4 &Zdig 88 7Y
1,630 x250L x5 & 2,038
ONM&D| AEX(SHSE)
800,000& * 15CH 12,000
SEAI- 22| 1,256,055 4,485,535 A3,229,480
201 Let23| 276,314 183,7H4 R,520
01 ArR22lt| 116,514 38,014 78,500
OYer+BHI(2LTL-T2 2= 44
2) 526,000 12Z X 6,312
OALEY L2 (=2FHI)
800,000& *100 80,000
ORZRME MEIEA ZHEY 242
506,000 x22Z X| 11,572
Oger=2| 8,580
- AIRES 2| 300,000& = 12J1 = 3,600
SAD| 7Rl 200,000 1201 = 2,400
SAEZX 2
23,0003 58t Ax 1200 & 1,380
A2R2EI 2 100,000 = 1201 = 1,200
Onl=stl 2 (233) 250,000 x3H 750
OIl=d P (222212, AlE2IR3)
300,000& =15 4,500
OZ2H(E2, HE, HExY 8)
8,000& x 15 +25 3,000
OCSHAZRINEZ2A)HLFAL S
150,000 *12H 1,800
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SA: A8
Y C2ae
&l S22 X2 (EEEE))
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
02 22| 159,800 145,780 14,020
o222 ¢ MA 75,000
ORISR (REMH) 45,800
Oxt24elH (R LAREH) 10,000
OMZJl & H& &%) KX el
10,0002 x28CH*23] 5,600
oxzEsa Wl 700,0002* 12CH 8,400
OFDIQHEA2 et o 15,000
203 QP FE| 3,000 3,000
03 AR ZEZI A=A 3,000 3,000
OALHTAR AIHZZ 3,000
206 Kb 77,227 77,227
01 X=2bl 77,227 77,227
CR2AMELE I (28HE 25kg)
27,0002 *900 % 24,300
OXEHT2 2242 X (SSOON)
24,0002 470 11,280
OS2AMS4E XHH(OIAZE 25kg)
24,0002 1802 4,320
OE2ALBLE XHH(0tAR)
90,00024*70= 6,300
OE2AMELE XHH(AIHE)
75002 %200 1,500
OZZAMELE MM(EEZE)
134,0002 *28H} 3| £ 3,752
OE222=78 IM(==21)
5,300 +1,600m 8,480
OEZ2S2=278 IHH(HOAR)
8,5002+270m 2.2%
OLSEARY A28 7 15,000
301 LPHERZ 5,514 5,514
14 JIEIR A2 5,514 5,514
ONESXAL UK BAZ(N2E)
91,90021 %10} A 6 5,514
401 AlEHIZ 2 0HH 610,000 3,458,000 2,848,000
01 Al&] 606,472 3,433,425 A2,826,953
O2nAe Helxd
140,000, 00024 +99. 28% 138,992
OZ 22X TeB2 (A HEEZ)
350,000, 0002 *99.28% 347,480
OXAB(SZRALIARL) ABSBIL AA
Z I R BAL 20,000
OZ 22|24 SIMAIL LAY 100,000
03 Al&=SCHY 3,528 24,575 21,047
OZDAS A2l =4
140,000,00024%0. 7% 1,008

_6_




S AL
M E2ae|
tel: S22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=2 KA2elZ(AIIK HEER)
350,000, 0002 %0.72% 2,520
405 KHoHFSHI 284,000 758,000 A474,000
01 ML ESFSHI 284,000 758,000 474,000
sEM=)| FSUH L
7,000,000 =2CH 14,000
Ol §ZEH 170,000,000 »1CH 170,000
Og=ME 1 (20KL) 40,000,000 »1CH 40,000
Out| 60,000,000 1CH 60,000
wWSE A 7,955 7,720 235
=S 7,995
301 LEtE NS 7,995 7,720 235
= 7,995
14 J|Et2a s 7,995 7,720 235
OLSEXTA H0IXt Ea3(RYE)
7,954,800 7,955
S 7,955
A A 95,000 0 95,000
< 95,000
401 AlEHIZ S 0HBI 95,000 0 95,000
= 95,000
01 Al&HI 95,000 0 95,000
O AJHA ™ UAE HHIA 20,000
= 20,000
Oss =2 oAk SHIMY 25,000
[ 25,000
Oljatots & E2 (A0S H) d8HE 50,000
== 50,000
P 230,000 350,000 120,000
A 20,000 50,000 30,000
305 Hi& =S 20,000 50,000 30,000
01 Hie=S 20,000 50,000 /30,000
ORY0ISa A8AA 2E, i
20,000,000 20,000
OlEsi2d 210,000 300,000 290,000
401 Al HIZL S 0HYI 210,000 300,000 290,000
01 Al&HI 210,000 300,000 80,000
OBINSEX(AIRA HUE2)2 4
210,000,000 x 14 210,000
HH2AZH(AL) 40,520 46,760 26,240
JlE2deI(A&) 40,520 46,760 A\6,240
JlEZe(H4) 40,520 46,760 A6,240
201 2= 11,500 17,900 26,400




SA AL
T BHSAY| (AL
ool J1=2dHI(A&4 1) (S &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 11,500 17,900 26,400
OSZHI(Bl42 <L U™, =cH=+>, 02
s) 4,000
O+ (T2R2IME HaL)
70,0002 %10 700
OH&1 AFRIPD| &Xt= 5,200
Oz A2 4 ZHlEla dHl28us
] 800,000& »2H 1,600
202 04t 23,800 23,700 100
01 =LHOHI 23,800 23,700 100
OAedyd &R Astodl(=222lH)
100,000 %10 1,000
O=LH04HI 22,800,000 22,800
203 HR=&H] 5,220 5,160 60
M EA2HER=AH 5,220 5,160 60
ORAMZEE =2 5,220,000& 5,220
Sgotd 2,609,200 0 2,609,200
Ele=z2t | 2,609,200 0 2,609,200
S&Eotd FHI(EX) 2,400,000 0 2,400,000
401 AIEHIZ SR HYI 2,400,000 0 2,400,000
01 Al&HI 2,391,360 0 2,391,360
OR#(=It) SEotd A
2,400,000,0002 *99.64% 2,391,360
03 Al 2CHYI 8,640 0 8,640
OR#(=It) SEotd A
2,400,000,000& *0. 36% 8,640
Sgotd JHl 209,200 209,200
201 et 3| 5,600 5,600
01 AtR2t2|H] 5,600 5,600
ORA SEotEAIY HEHA 32
70,0003 20 *42] 5,600
202 04l 3,600 3,600
01 2LHoIH 3,600 3,600
ORd SEotdAY gF =& 2804| 3,000
O A 600
401 Al HIZ S OHbI 200,000 200,000
01 AlZ2H| 198,560 198,560
OK# ot=3HIAM
200,000,000 *99.28% 198,560
03 Al 20HHI 1,440 0 1,440
ORd ot=dHHlIAr
200,000,000 *0.72% 1,440
I otd 2 S50 3,633,825 3,450,213 183,612
= 317,600




SA AL
HE: UK oHE 2 2Z2HA
et Ot X =2 (EEEE))
£ = AE]
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
Al 3,316,225
IIRSER ¥ X2 2,839,825 2,660,213 179,612
IIRE &X 2 KXz 2,339,825 2,660,213 A320,388
201 LBt2HH| 831,025 779,413 51,612
01 AtR2+2IH] 1,800 1,800 0
OJI2E IHHED So1AH| 22|
150,0002! * 122 1,800
02 2Z2=29H| 829,225 777,613 51,612
OFUE ®MIQ2 57,10024%10, 41994 504,925
OFE ™R3 198,300
OJIR2E HOE |2l
180, 0002 *2002H 36,000
206 MHEHI 305,800 305,800
01 XH2HI 305,800 305,800
OJI2E B428 I 7Y 305,800
AHSHEBE | (LLtsE) 149, 0002 200K 29,800
LED 2T (50 110,000 %2, 100 231,000
LED ZHIT(100W) 150, 0002 *3007H 45,000
401 AlEHIZL NI 1,203,000 1,575,000 A372,000
01 Al&HI 1,193,842 1,563,584 N369,742
SEII2S(LED) A (300E)
336,000, 0002 *99. 28% 333,581
OZAIDIZS(LEDE) AA(150S)
367,500, 0002 *99. 28% 364,854
OJt=(2ehHE KXz
300,000, 000299, 28% 297,840
OYRAAl L2 DI DF
70,000,0002*99. 1% 69,370
OZADIRE 2F8 Dl
35,000,000 *98.92% 34,622
OLZII2E HH|(200S)
42,000,000 %98.92% 41,547
OIS SABL(10S)
52,500, 0002 *99. 1% 52,028
03 Al S2CHYI 9,158 11,416 A2,258
SEIIZE(LDSE) A4 (300E)
336,000,000 *0. 72% 2,420
OZAIIIZS(LEDS) AA(150S)
367,500,0002!%0.72% 2,646
OJt2(2eHE Sxl=2|
300,000,000 %0. 72% 2,160
OLSIAl L2 LEDEIITR DA
70,000,0002 0. 630
OZAIJIRE 28E 1Al
35,000, 0002 *1.08% 378




2A:

X XH -
o=

Rl JIRSEX & |2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OL-2J125 HI(200S)
42,000,000& *1.08% 454
OJ=28 FHES(1508) 470
22X =8 II2SF WA A 500,000 500,000
401 AIEHIZ SR THYI 500,000 500,000
01 AlZ8| 496,400 496,400
OZ&X =8 JI2SF wHMALE
500,000,000 *99.28% 496,400
03 Al 20HHI 3,600 0 3,600
OZ&X =8 25+ WA
500,000,000&*0.72% 3,600
H2E EX ¥ RXAL(EX) 794,000 0 794,000
= 317,600
Al 476,400
I2S EX & =A2ed 794,000 0 794,000
= 317,600
Al 476,400
401 Al HIZL S 0HYI 794,000 0 794,000
= 317,600
Al 476,400
01 Al&H| 794,000 0 794,000
OJIRPOUE ATIEAHRNALL 7E2
At 794,000,000 * 14 794,000
= 317,600
Al 476,400
SADHE 7,266,000 15,947,000 8,681,000
s 563,000
== 170,000
Al 6,533,000
SADI2Y FHIAMS(UZ) 950,000 3,690,000 A2,740,000
HESE U2 HESA 950,000 1,000,000 /50,000
401 AIEHIZ R HYI 950,000 1,000,000 /50,000
01 Al&HI 944,015 993,700 A49,685
ORYER U2 WEZAl
950,000,000 *99.37% 944,015
03 A2 2 0HYI 5,985 6,300 A315
OXSESZ UZ HE3A
950,000, 0002 *0.63% 5,985
SADIZY FHIAIS(E2) 1,940,000 4,895,000 A2,955,000
== 170,000
Al 1,770,000
JBlwe 23Sx -3 82 NSs SA 1,500,000 1,395,000 105,000
401 Al HIZL S 0HYI 1,500,000 0 1,500,000
01 Al&HI 1,494,600 0 1,494,600




SN A D
ma: CADfY

Gl TAIDIRY FHIAI(ER) (el o)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Olelnd 25x - & S= NS3 SAt
1,500,000,000& *99.64% 1,494,600
03 AIZSTHYI 5,400 0 5,400
Ollelned 2% - & ST NS SA
1,500,000, 000& *0.36% 5,400
ESS & 42 e SAt 100,000 0 100,000
401 A2 HIZL 201 100,000 0 100,000
01 Al&HI 100,000 0 100,000
OEE & 452 e SA
100,000,000 100,000
WEAMD 2 R HEAIL(EX)(HEALY) 340,000 0 340,000
= 170,000
Al 170,000
401 AIEHIX 20 340,000 0 340,000
=S 170,000
Al 170,000
01 AlZ8| 340,000 0 340,000
Octds =02 471 JHEAM 80,000
< 40,000
Al 40,000
O=&S SUI4t HEA 260,000
= 130,000
Al 130,000
CADIZZ FHIAIE (AR) 3,250,000 5,690,000 A\2,440,000
01T TAHEANE(CR) oiazte 24 1,000,000 3,000,000 /2,000,000
401 Al HIZ S OHbI 1,000,000 3,000,000 /2,000,000
01 AlZ2H| 993,700 2,989,200 1,995,500
OFII0ITY TAHEANE(ER) SHaztd
24 1,000,000,0002 %99.37% 993,700
03 Al 20HHI 6,300 10,800 /4,500
OZI0IZBY TAIABANE (=) ozt
24 1,000,000, 000&*0.63% 6,300
SLEE FA2ACIAL 800,000 810,000 10,000
401 AIEHIX R0 800,000 810,000 10,000
01 A28l 800,000 810,000 10,000
OsAEZ FX2el 800,000
S22 HNE EEE TEAY 500,000 0 500,000
401 Al HIZL R 0HbI 500,000 0 500,000
01 Al&HI 496,400 0 496,400
OS2 oIEs BHsA TAAY
500,000,000 *99.28% 496,400
03 Al 2 CHHI 3,600 0 3,600

\__ — o o |'\:1

500,000,000& 0. 72% 3,600
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S AL
B SAfe
Sl CADIZY FHIARRI(AR) (o) &)
SN - B S(BH) - HBAY - BAS 0l &y G o HIRS2
IETOIE X2 HH| AFH 500,000 500,000
401 A2 HIYL 204 500,000 500,000
01 Al&HI 49,400 49,400
OEM Or2 dd=Z JHIAIS
500,000, 0002 *99. 28% 496,400
03 Al&20HHI 3,600 3,600
OEM 02 A=z ZHIAIH
500,000,000 *0.72% 3,600
AlE O A2 A ZAb 300,000 300,000
401 AIEHIL 2] 300,000 300,000
01 A&t 297,840 297,840
OMEQIL AER HEZA
300,000, 0002 *99. 28% 297,840
03 AI&Z20HHI 2,160 2,160
OdlESHY AYEZ IS AL
300,000,000 *0.72% 2,160
LHEZL MUETZ IS AL 150,000 150,000
401 AIEHIZL 204 150,000 150,000
01 Al&HI 150,000 150,000
OUEZ X2 JHE AL (FOIEO{ 0l AF) 150,000
KISOHE ALY 1,126,000 1,126,000
s 563,000
Al 563,000
AE 232 IHEZA 1,126,000 1,126,000
Fay 563,000
Al 563,000
401 Al HIL20HH| 1,126,000 1,126,000
= 563,000
Al 563,000
01 Al&HI 1,121,947 1,121,947
OAlY 23EZ INESAH
1,126,000,000& *99.64% 1,121,947
s 563,000
Al 558,947
03 Al S2CHYI 4,053 4,053
OAMHE R3IE=2 MEZBAH 4,053
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